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Draw bar models to answer these questions                    
                                                 
	
Half of 12 =

Quarter of 28 =

Half of 18 =

½ of 22 =

	Quarter of 16 =

¼ of 24 =

¼ of 32 =

1/3 of 12 =
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Two cubes are a quarter, what
could the whole look like?

Three cubes- are a quarter,

what could the whole look like?
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Mr. White has asked his class to put one
quarter of the balls into the hoop.

I'm going to put one ball in
& the hoop.
Teddy
I'm going to put three balls o
in the hoop.
‘Whitney

©0!

Tommy

Who is correct? Can you explain any
mistakes made?




